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1. Find the general solution of the following differential equation
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2. Find the general solution of the following Bernoulli equation.

1

y-—y=xy’ (16%)
3. Find the general solution of the following Euler equation x’y" +3xy'+2y =1
(16%)
4. Solve the initial value problem : y' -3y =6(r—-1); y(0)=1.
Where &(f —a) is the Dirac delta function.
(16%)

5. Find the first three nonzero terms of the power series solution of the initial value
problem,about the point where the initial conditions are given:
y'-xy=0, y(0)»1,5'(0)=0.
(16%)
6. (1) Find the solution of the Sturm-Liouville problem:
y'+ 7ty =0;y(0)=y(5)=0 (10%)

(2) Find the solution for the system of linear differential equations:
x;=5x+3x, x,(0=0
x,=x+3x, x, (0)=4 (10%)




